Mathematik-Arbeitsblatt Klasse:

Lésung 1 (621.22-001-e)

8) 3<x<6o0der 2 <x<7

b) 11 £ x £ 16 oder 10 < x < 17
C) 22 < x <24 oder 21 < x < 25

Loésung 2 (521.22-006-e)

a) 22 < x <23 oder 21 < x < 24

b) 1200 £ x £ 1202 oder 1199 < x < 1203
c) 99 < x £ 101 oder 98 < x < 102

Lésung 3 (5Z21.22-011-m)
a) 2 <x<7o0der 1 <x< 8
b) 1 <x<50der 0<x< 6

Lésung 4 (5Z21.22-014-m)
a) 4 < x <8 oder 3 <x<29
b) 11 £ x £ 20 oder 10 < x < 21

Loésung 5 (521.22-021-s)

a) x <0 oder x <1
b) x < 15 oder x < 16
C) x>7 oder x > 6

Lésung 6 (521.22-024-s)
a) 35<p <50
b) 1200 < a < 1500

Lésung 7 (521.22-028-s)
a) 118 > x > 100
b) 56 <z <79
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